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180������50HZ
�����THS=98�

125 1000 A

IT(RMS) �� ��

180������50HZ
�����THS=55�

125 1271 A

VDRM

VRRM
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VDRM&VRRM tp=10ms
VDSM&VRSM=VDRM&VRRM+100V

125 100 6500 V

IDRM
IRRM
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VDM=VDRM

VRM=VRRM
125 80 mA

ITSM ��("#)*�� 10ms+,�����

VR=0.6VRRM
125

13 KA

I2t )*����-./ 845 A2S*10
VTO 01�%

125
0.93 V

rT 23�4 0.29 m5

VTM ��$��% ITM=3000A,F=15KN 25 2.4 V

dv/dt !��%67893 VDM=0.67VDRM 125 1000 V/us

di/dt ����67893

VDM=67�VDRM TO 1000A,
0:;< tr=0.5us IGM=1.5A

"#�

125 150 A/us

ITM &'>#�� ITM=3000A�tq=1000us
Di/dt=-20A/us.

Vr=50V
125

184 A

trr &'>#-. 17.2 us

Qrr >#�? 1581 uC

IGT 0:@A��

VA=12V,IA=1A 25

40 300 mA

VGT 0:@A�% 0.8 3.0 V

IH BC�� 20 250 mA

VGD 0:(@A�% VDM=0.67VDRM 125 0.3 V

Rth(j-h)
�4DE	F��GH

180���������
%IJ 15KN

0.022 �/W

FM KLJ 21 30 KN

Tstq �M
N -40 140 �
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IT(AV) 1000A

VDRM/VRRM 100-6500V

ITSM 13 KA

I2t 845 103a2s
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